
0

20

40

60

80

100

xg
(x

,Q
2 )

HERAPDF method (Hessian)

Q 2= 104 GeV2

CMS HERA I+II DIS
HERA I+II DIS + CMS dijets

10 4 10 3 10 2 10 1
x

0.40.20.00.20.4

Re
l. 

un
ce

rt. 0

5

10

15

20

25

x
(x

,Q
2 )

HERAPDF method (Hessian)

Q 2= 104 GeV2

CMS HERA I+II DIS
HERA I+II DIS + CMS dijets

10 4 10 3 10 2 10 1
x

0.40.20.00.20.4

Re
l. 

un
ce

rt.
0.0

0.1

0.2

0.3

0.4

0.5

0.6

xd
v(x

,Q
2 )

HERAPDF method (Hessian)

Q 2= 104 GeV2

CMS HERA I+II DIS
HERA I+II DIS + CMS dijets

10 4 10 3 10 2 10 1
x

0.40.20.00.20.4

Re
l. 

un
ce

rt. 0.0

0.2

0.4

0.6

0.8

1.0

xu
v(x

,Q
2 )

HERAPDF method (Hessian)

Q 2= 104 GeV2

CMS HERA I+II DIS
HERA I+II DIS + CMS dijets

10 4 10 3 10 2 10 1
x

0.40.20.00.20.4
Re

l. 
un

ce
rt.


